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Math Notes: Inequalities

Objective – SWBAT write, solve, and graph inequalities
Notes
An inequality is when something is NOT exactly __________________ something else. It will have a _____________________ _______________, or a group of numbers that could be the answer.
	Symbol
	Clues

	<
	Less than, fewer than

	≤
	Less than or equal to, at most

	>
	Greater than, more than

	≥
	Greater than or equal to, at least


Let’s Try!
Write the inequalities based on the sentence given. List out at least three possible answers that could be in the solution set for the inequalities.
	1. Emma needs at least 83.

	2. Todd caught a fish that weighted less than 12 pounds.
	3. Cyanne needs more than a 87% on her test.


Let’s Try!

Using the inequality x + 78 ≤ 115 determine if the following numbers are in the solution set.
	1) 28


	2) 37
	3) 41


What are some other numbers that are in the solution set for x + 78 ≤ 115? How do you know this?
____________________________________________________________________________________________________________
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GRAPHING INEQUALITIES
Step 1: Whatever number is in the inequality, write that number in the middle of your number line
Step 2: If your inequality sign has a line under it (meaning ‘or equal to’) draw a CLOSED circle on your number line. If your inequality sign does not have a line under it, draw an OPEN circle on your number line
Step 3: Draw your line in the appropriate direction (less than to the right, greater than to the left)
Let’s Try!
Solve the inequalities and graph the solution on a number line
	1. n > 12

	2.      x  ≤ 2



	3.      x < 30


	4.  b  ≥ 3 





Try on your own!
	1. Determine whether the given value is a solution of the inequality.

y + 8 < 13

y = 7
	2.      Determine whether the given value is a solution of the inequality.

7n > 105

n = 15


	2. Determine whether the given value is a solution of the inequality.

25 + w ≥ 42

w = 17
	4. Determine whether the given value is a solution of the inequality.

B ÷ 3 > 10

B = 36

	5. Write an inequality for the situation.
Noah has fewer than 8 tennis balls


	6. Write an inequality for the situation.
Lauren rode no more than 38 miles.



	7. Write an inequality for the situation.

Mary Ruby read at least 45 pages of the book
	8. Write an inequality for the situation.

Jeani spent more than $85

	9. Write an inequality for the graph



                                           13

	10. Write an inequality for the graph



                                              22

	11. Graph the inequality w > 20

List three numbers that are in the solution set



	12. Graph the inequality h  ≤ 1
List three numbers that are in the solution set


